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-(6 + .r)

1. l' (J') = 2r:!J3 + x

12.1751.

vf:f9 = f (0.9) ~ f (1) + l' (1) (-0.1) =;2 + (-~) (-().!) =0.9

(-l,co)
+

f is inCTeil.c;iIlg on (-1, co).

2. At x = 1, JJ = ± 1. Differellt iat ion wit 11respect to:r. ==:::;. 4 + 2yy' + 2·1'7/ + 2.r'!.y,l/ = O.

Equation (lfIlorlllallinc at Pj(l, 1):]1 -1 = ~(r -1).

Equation of normallinc at PAL -1) : y + 1 = -~ (:L' - 1).

3. (b) f' (x) < 0 for e\'ery J" ill (ao /I) ----;-. l' exist.s on (a, b) ==? f is differcllt j;tll\c

011 (a,b) aIlclsincc f is contiIluOUS OIl [a, II]. From the !\1.V.T.,:3 c E (a,h) such that,:
f(b) - f(a) = f'(c)(b - a) < 0 {I' (c) < O,D - a> O} =::;> f(b) < f(o).

-!--'

., 2 2 V 2 ') d= St d::.1 /4. :::~= x + Y ==? ::.= (31) + (.1tt ===} - = r;;; =::;> - = 5 m seedt. v 1.- ell 1=1

5. DJ = lR - {-I} .The graph of f is not symmetric:. f(O) = o.

f'( ) = (x + 1) (1) -:r _ 1 = ( )-2 f"( ) = -2x " - ., x + 1 ==:::;. x ...
Cr + 1) ~ (.r + 1t (.r + 1)

Jim f(l:) = =1=::>0 ==> Th(: gnlpb of f has infinite discontinuity at :[ = -1 S.:. .1' = -1;r--l±
is V.A.

Jim f(x) = 1 ~ Q\is B.A.;r-±oo ~

l'(-1) does llot exist.

I I (-co,-1)
si~ll of l' (:1') I +
COllclusion f is illCITasillg 011(-co, -1).

f" (-1) cloes not exist.

I (-co,-l) I (-l.x)
sign of l' (:r) +
COIlcnvity The gr;lpl1 of f is CU OIl (-co, -1) The gr;lph of f is CD Oil (- 1,::0)

f(O) = 0 is the min. \';llue of f on [0,3] .f(3) = j is the l11(L~. \'alnc of fOil [O,~)j.
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